
Differentiëren goniometrische functies (H8: opgave 78, 79, 80) 

Opgave Functie Afgeleide 

1 𝑓𝑓(𝑥𝑥) = 3 + 4 sin(2𝑥𝑥 −
1
3
𝜋𝜋)  

2 𝑓𝑓(𝑥𝑥) = 10 + 16cos � 
1
2

(𝑥𝑥 − 1)�  

3 𝑔𝑔(𝑥𝑥) = 𝑥𝑥 cos(𝑥𝑥)  

4 ℎ(𝑥𝑥) =
𝑥𝑥2 + sin (𝑥𝑥)

cos(𝑥𝑥)
 

 
 
 
 
 
 
 

5 𝑔𝑔(𝑥𝑥) = 2𝑥𝑥 sin(3𝑥𝑥 − 1)  

6 𝑗𝑗(𝑥𝑥) =
cos(𝑥𝑥)
sin(𝑥𝑥)

 

 
 
 
 
 
 
 

7 𝑘𝑘(𝑥𝑥) = cos2(𝑥𝑥)    

8 𝑔𝑔(𝑥𝑥) = 𝑥𝑥2 sin(3𝑥𝑥)  

9 𝑙𝑙(𝑥𝑥) = 𝑥𝑥 + 3 sin2(𝑥𝑥)  

10 ℎ(𝑥𝑥) =
sin(𝑥𝑥)

𝑥𝑥 + sin (𝑥𝑥)
 

 
 
 
 
 
 



Uitwerkingen 

Opgave Functie Afgeleide 

1 𝑓𝑓(𝑥𝑥) = 3 + 4 sin(2𝑥𝑥 −
1
3
𝜋𝜋) 

 

2 𝑓𝑓(𝑥𝑥) = 10 + 16cos � 
1
2

(𝑥𝑥 − 1)� 

 

3 𝑔𝑔(𝑥𝑥) = 𝑥𝑥 cos(𝑥𝑥) 

 

4 ℎ(𝑥𝑥) =
𝑥𝑥2 + sin (𝑥𝑥)

cos(𝑥𝑥)
 

 
 
 
 

5 𝑔𝑔(𝑥𝑥) = 2𝑥𝑥 sin(3𝑥𝑥 − 1) 

 

6 𝑗𝑗(𝑥𝑥) =
cos(𝑥𝑥)
sin(𝑥𝑥)

 

 

7 𝑘𝑘(𝑥𝑥) = cos2(𝑥𝑥)   

 

8 𝑔𝑔(𝑥𝑥) = 𝑥𝑥2 sin(3𝑥𝑥) 

 

9 𝑙𝑙(𝑥𝑥) = 𝑥𝑥 + 3 sin2(𝑥𝑥) 

 

10 ℎ(𝑥𝑥) =
sin(𝑥𝑥)

𝑥𝑥 + sin (𝑥𝑥)
 

 
 
 
 
 

 


